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lVsemester B.Sc. Oegree(CBCSS-Beg./SupJlmp.) Examination, April 2020
(2014 Admn. Onwards)

COMPLEMENTABY COUFSE IN STATISTICS
4C04STA : statisiical hlerence

Tmc'3 Houc lMax lr,'la4s 40

lnsttuction : use al calculatars and Sta4stical tables ate permined

PART - A

(shortAnswe4

Answer allthe 6 queslions

l. Dstinguish belw€en est mate and estimalor.

2. Deiine simp e hypolhesis.

3 Wlral are lhe uses ol I distrbuton ?

4 Show lhal p.d.i. oi exponeftia dslribulion wilh parameler v, and clri sq!are
dslribllon wth 2 deqrees olireedom are sarne

5. Flow w !lyou declde the besl crticalregions ol a Ztest ?

6. G ve a. .slance where testlor proporlon is sli1abe.

PART B

(Shorl EssaY)

Answer any 6 questions.

7 A manulactur ng process is expecled to prodlce goods wilh a speclied we ght
with vdance less than 5 unils. A random sample ol 10 was found to have
varance 6.2 units. ls there reason lo suspect lhal the process vaiance has
increased (!se (= 0.05)

8. Let \, X2 . , Xi be a random samp e lrom Bemolll distnbin on with parameler p

Qbtaln a slficent statisilc for p.
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9 oblain the 95% conldence i.tetoa for the mean oi a Normal dislrbulion

N(f,6)wheno s known.

l0 Derlve the m.g.i. ol chisquare dslrbulion.

ll [,len1on llre mportant propedes ol maxmum like hood esl mators.

12. Give a rolgh skelch oi i2 d siribution ior n = 1, 2.

I3. Forthe random sample xr X,, , X,, taken from Poisson popu al on w th

oarameleri Show that !l s a based eslimatoror /-n-j
14 Eslab sh the re al on behveen norma, chi square, t and F distbutions. (6x2=12)

Answer any 4 quest o.s

1 5. Dei ne Slu dent s t distr bLlion ll X j and X, are 1wo ndependenl slandard norma

var ab es. Prove thal l = 
g lol ows t d slabulion w th 2 d.1.

\rxir x:

16. i T s an unb ased estimaie oi u, check whether T'? s unbiased lor f2.

Descrbe the pa red samp e l1esl

lXj X,..., X" is a randon sampe irom a normalpopu alon wilh mean A and

Ldr dn.p 02 Oola'- l-e d sr b

1 L A manulaclu rirg company nraking aulomob e lyre c a ms lhat the average ile

oi is prodLd is 35000 m les A random samp e ol 16lyres was selecled and

il was found thal the mean lie was 34000 mlles wlh a S.D.2000 m ies. Tesi

the hypolhes s Ho : [ = 35000 againsl the a]temative Hr . u < 35000 al d = 5%.

20. Lelxhasp.d I i(x)=(1 +0)r1,0<x<1. Findthepoweroitheleslwhchrejects
H":o=Z n iavou, ol H , F -% t x , L. (ax3=12)



(LonE Essay)

Arswer any 2 questions.

21. a) Explain the chisquare tesl lorlndependence ol attibule.

b) Atholsand ind vidualsirom adisndwere classil ed accordirg to sex and
coour blindness lo iorm theiollowng
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Test the hypolhesis lhal m ourbllndne$ is lndep€ndent ol sex (use a = 0.05).

22. a) Dlslngush behveen po nl estimalion and interyal eslimation wilh examples.

b) Esl male a 95% conlidence interval 1or ! based on 10 random samples
22, 25, 34, 21, 24, 26, 24, 24, 25, 26 laken from N(t| 5).

23 a vr v- v, sdidnool saloelold o'naloooLa'onwrhr.a_
a, d vala ,ce r obtair 1 e fonanr es.,fa.ors or I. I, d o..

24. a) Dellne unbiasdeness and consistency oi an esllmate.

b) Give an exampe ol a. estirnate which is consistentbut not unbiased.
. (2ts:10)


